Survival Superiority Two-Sample
α=0.05 (2-sided)

β=0.20
2-year survival rate (placebo): 80%

2-year survival rate (active treatment): 85%

500 patients/year 
5 looks

a) Input the following results to perfom the 4 interim analyses
	# of look
	Cumulative events
	log-rank statistic (z)

	1
	60
	2.235

	2
	140
	2.37

	3
	190
	2.3

	4
	262
	1.983


b) Repeat the input process with the values of (cum. events, δ, SE) as (60, 0.514, 0.23), (140, 0.5833, 0.24612), (190, 0.5419, 0.23561), (262, 0.5024, 0.25316) 
c) Perfom the final analysis assuming that 325 events,  log(HR)=0.6235, and stabdard error=0.2211.
